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Note : Question No. 1 is compulsory. Attempt any four 

questions from the question Nos. 2 to 6. 

1. 	(a) Explain the following : 	 2 

(i) Test cross 

(ii) Genetic screening 

(b) Fill in the blanks : 	 4 

(i) 	One genetic map unit is equal to 

(ii) 	are the basic proteins that 

are positively charged at neutral pH. 

(iii) T-lymphocytis originate in 

	 as stem cells. 

(iv) Any gene that occurs exclusively on 
the Y - Chromosome is said to be 
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(c) Write T for true and F for false for the 	2 
following statements : 

(i) Evidences suggest that initiation effect 

of a carcinogen arises from its ability 

to produce mutation in DNA. 

(ii) Polyploidy derived from the 

multiplication of a single ancestral set 

of chromosomes is known as 

allopolyploidy. 

(iii) In ZZ-ZW system of chromosomal sex-

determination, males are ZW and the 
females are ZZ. 

(iv) Hemolytic disease of the new-born 

occurs when the mother is RH-ve and 
the father is RH+ve. 

	

(d) Differentiate between the following pairs : 	2 
(i) Mis sense and Non-sense mutation. 

(ii) Amnion and Chorion. 

	

2. (a) What is Hardy-Weinberg Law ? Mention 	4 
three conditions that need to be satisfied if 

the gene frequencies are to be Maintained 

in an equilibrium in a population for several 
generations. 

(b) What are Q-bands ? How are they useful 	4 
in characterization of chromosomes ? 

(c) With a suitable example explain polygenic 2 
inheritance. 
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3. 	(a) What are somatic-, / gametic-, spontaneous 	4 

and induced mutations ? 

(b) Write short notes on : 
	 6 

(i) Oncogenic viruses 

(ii) ABO blood group systems 

	

4. 	(a) With the help of neat labelled diagrams 	5 

describe the life cycle of lytic or lysogenic 

bacteriophage. 

(b) A cross between red and white-flowered 	5 

"four-O' clock" plants produced fifty 

percent progeny with pink flowered plants. 

Explain. 

5. 	Attempt any two of the following : 

(a) How can Bacillus thuringiensis help farmers 
	

5 

to avoid use of pesticides ? 

(b) Differentiate between primary-, secondary- 	5 

and tertiary sex-ratios. In humans why do 

males get out numbered more and more by 

females with time ? 

(c) What is meant by genes-within-genes ? 	5 

How were they discovered ? 
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6. 	(a) Discuss the possible origin of organelles 	5 
based on endosymbiotic theory. 

OR 

	

How can replica plating technique in 	5 
bacteria demonstrate transformation of 
genetic materials ? Explain. 

	

(b) What are the symptoms of Hutington's 	5 
disease ? Comment on its genetical basis. 
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1. 	(a) 	-14-i Frir(cf 	-4-f77 : 
	 2 

	

(i) 	4t1vrzi 401-).&u1 	

31r-1-4ftrw k-9b 14i 

(b) fc4U T9-419 	 : 
	 4 

(i) - r) 	4-1 

(ii) fT.-3qR1-17 

pH IR q91-01-WU: 3-1T4i7rd 	ti 

(iii) T-fOTT1141*..   IT 1474 

3Tfq4ka.  chlrkichiat (stem cells) t 	 

ql 	 t I 
(iv) --)1 s3111 7).  TrI7 Y -1770 17 	t a

ti 
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(c) F-H-liortgd qwro• 4 4 	t 1C,R Tr AT 	2 

1Z-R f-0-ftf7 : 

H  	 tfW 	 t1,11 

3Wid (initiation effect), 31:11-4.  

DNA 14 3CtiRcRiri C11; 	V117T 151 t I 

.111:70 	 .141-cciq ciuum 

W -q-grifirtaT •Q. 	 1 

ijurtp-Izi rqiq fffzthirr 	zz-zw 	t 

3f-d-rfu 	zw CWT 1-1Iqf ZZ aC11 t 

(iv) 101■311(1 f74 	Tfiao-zTi 4-Tr zTi- 	HMI 

RH-ve 2,1T 	RH+vet.)-4 

t I 

(d) 1-1 4-irrirtIcf 7aTTff 	 : 	 2 

(i) 	31712.ff2TT 3T 

'9-TT 7111 

2. 	(a) 	TTT t? ft111. 141:filZ 31--kw 	4 

-91-Nt doh 	31r 4i 	 Tr 01-11 	tg4 

tfri 	zi 411 31-q-TRITA 	 N.4 

■Iikch(lk k(_111 slIt4 t 

(b) 	ITT t? -111311:0* 	4 -4 1I 	{ 	4 

5i chit .1v4ezr) 1? 
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(c) 31:1zr*f dqiv.ir 	kivoi A 	ci 	2 

3. 	(a) 	-1171W-, 	 -ff2TT -4fwd 	ITT 	4 

t? 

(b) 	 ITT M 	 rdwiuiqf 	: 	 6 

(i) ealit \stii .dri-{14 

(ii) ABO TrW 	-srurr- 1-  

4. 	(a) 	IJTEZ 	1. 	 14C11 A-1--q-ruitft-A. 	5 

	 (lytic) 1st) 3iRMT riiztich rist) T au i-1 

7I 

(b) 010-* Trkq--cW ai( 4,- 	croich 	f 	5 

	

4.bot 	q -cii(i -91--dvm 	ctic, -914 

mi 71 (-1 	ceiKsql V-r-A-7 

5. f-W-471 	3711 ■IR : 

(a) cr/iiicvi Eift-O7f7Ffici emit -r-*-Trr-4 	iRict, 	5 

•Taci 4-11,a41 (pesticides) t 31:17rfrf 	.1-14 	41qq 

	 ? 

(b) 3TT, fg-9-1-zrw -uRTT It-4W Fri.41 3170 4q 
	

5 

V-F---47 -13-r-1- 	 TrI2T #TZ4 	ki.(9611 

-7=4 ch`l 	I .4 al-rw 	Am') t ? 

(c) AT{ ,{1-il" 	zTT afil-srpq t? 
	

5 

41,4 14A-1 -iAchR 
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6. 	(a) afff:kia ci 	-1 #red t 3TRITT TR afTr-4 -1- 7411-rfq-ff 	5 

3---ecri7 4;1 rci -oi-if '4f-471 

zit 

	

71-49,3#14•51th-ft trga-ff cl etv41 ch airf4FTW LicA 	5 

'k te,Llicitiii " -F:r -srwrt -pertz -wTal- t? 	4-1*i i* 	 I 

	

(b) e-d+z1 14i t cN I -TuT t ? -411t 3TrfdiTT 	5 

3114R -TT 3- 1Tf WIF-47 I 
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